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Four configurations: can be resolved by point triangulation. 
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(1382,986) (1144,986) 



X = 
    0.7111 
    0.1743 
    6.8865 
    1.0000 

% Intrinsic parameter 
K1 = [2329.558 0 1141.452; 0 2329.558 927.052; 0 0 1]; 
K2 = [2329.558 0 1241.731; 0 2329.558 927.052; 0 0 1]; 
 
% Camera matrices  
P1 = K1 * [eye(3) zeros(3,1)]; 
C = [1;0;0]; 
P2 = K2 * [eye(3) -C];  
 
% Correspondences 
x1 = [1382;986;1]; 
x2 = [1144;986;1]; 
skew1 = Vec2Skew(x1); 
skew2 = Vec2Skew(x2); 
 
% Solve 
A = [skew1*P1; skew2*P2]; 
[u,d,v] = svd(A); 
X = v(:,end)/v(end,end); 
  
function skew = Vec2Skew(v) 
skew  = [0 -v(3) v(2); v(3) 0 -v(1); -v(2) v(1) 0]; 
 



Point Triangulation 





Four configurations: 
Camera pose disambiguation via point triangulation 





World coordinate system 
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